CASTERS




IR \\\\

47

CASTERS

C-1

PP

C-2

PP
C-3
L]
PP PU
C-4
P
I«
PP PU

Part MNo.

C-1PUSORM12

C-1TPRS0GM12
C-1PPESWM12
C-1PUBSRM12
C-1TPRBSGM12
C-1PPTSWM12
C-1PUTSRM12
C-1TPRTSGM12

Part No.

C-2PUSORM10
C-2PUSORM12
C-2TPRS0GM12
C-2PPESWM12
C-2PUGSRM12
C-2TPRBSGM12
C-2PPTSWM12
C-2PUTSRM12
C-2TPRTSGM12

Part No.

C-3PPTSWM12
C-3PUTSRM12
C-3TPRT5GM12
C-3ESDTSEMI2
C-3PP100WM12
C-3PU1D0RM12
C-3TPR100OGM12
C-3ESD100BM12

Part No.

C-4PPTSWM12
CAPUTSREM12
C-4TPRTSGM12
CAEZDTSEM12
C-4PP100WM12
C-4PU100RM12
C-ATPR100GM12
C-4ESD100BMI2

65

75

(mm)

50

65

75

75

100

75

100

Wheel "U'_

Material

FU

TPR

PP
PU 27
TPR

PP

PU 27
TPR

Wheel "U'_

Material

(mm}

PU
PU 22
TPR

PP
PU 27
TPR

PP

PU 27
TPR

Wheel ﬂ+

Material

PP
PU
TPR
ESD
PP
PU
TPR
ESD

Wheel -Uv

Material

32

3z

PP
PU
TPR
ESD
PP
PU
TPR
ESD

3z

32

40

S0

g

{Kglh

30
40

S0

100

130

100

130

Ul

69

85

Ul

(mm)

&89

85

Ul

(mm)

104

130

Ul

104

130

Juki

Ll
(e}

M12 X 15

M2 X 15

M12 X 15

)

M0 X 15

M12 X 15

M12 X 15

M12 X 15

M12 X 60

M12 X 80

M12 X 60

M12 X 60



Unit : mm

C-5

PP

C-6

C-7

C-8

PP

Part No.

C-5PPTSW
C-5PUTSR
C-5TPRT5G
C-5PP100W
C-5PU100R
C-5TPR100G
C-5PP125W
C-5PUM25R
C-5TPR125G

Part Mo.

C-EPPTSW
C-EPUTER
CETPR7SG
C-6PP100W
C-8PUT00R
C-6TPR100G
C-EPP125W

C-8PU125R
C-6TPR125G

Part No.

C-TPPTSW
C-7TPUTSR
C-TTPRTSG
C-TPP100W
C-TPUAOOR
C-TTPR100G
C-TPP125W
C-TPU125R
C-TTPR125G

Part No.

C-8PP100W
C-EPUM00R
C-8TPR100G
C-8PP125W
C-8PU125R
C-8TPR125G
C-8PP150W
C-8PU1SOR
C-8TPR150G

100

125

100

125

100

125

{ram)

100

125

150

Wheel ﬂ«
{men)

Material

PP
PU 3z
TPR
PP
PU 32
TPR
PP

PU 3z
TPR

Material

{rren)
PP
PU 32
TPR
PP
PU 32
TPR
PP
PU 32
TPR

Material

PP
PU 32
TPR
PP
PU 32
TPR
PP
PU a2
TPR

Material

PP
PU 50
TPR
PP
PU 50
TPR
PP

FU 50
TPR

(Kgl

100

130

140

w G Tl &=
(Ka) ATy

100

130

140

Wheel *[} g @“I ::@zI
{een) (Kg) (men)

100

130

140

Wheel |
= a
= Gl =
{re) -] ()

280

350

420

REL L. G_—.

U Tl &I

{rrem) (mem)

103 g5 X 67
128 95 X 67
157 95 X 67

103 95 X a7
128 95 X 67
157 95 X 67

103 95 X 67
128 95 X 67
157 95 X 67

(o]

143 114 X 100

165 114 X 100

180 114 X 100

+—H
|ﬁ =]
ﬂ@ =] I

imen)
73X 45

73X 45

T3IX 45

codt
()
73X 45

T3X 45

T3X 45

—

EOK}:
{men]

73X 45

T3X 45

T3X 45

—H

Lol
)

B4XT1

gaXx T

BaXT1

48



IR \\\\
CASTERS

49

C-9

C-10

C-11

C-12

PP

PU

PU

TPR

TPR

Part No.

C-9PP100W
C-9PU100R
C-9TPR100G
C-9PP125W
C-O9PU125R
C-89TPR125G
C-9PP150W
C-9PU1S0R
C9TPR150G

Part No.

C-10PP100W
C-10PUM00R
C-10TPR100G
C-10PP125W
C-10PUM25R
C-10TPR125G
C-10PP150W
C-10PUMS0R
C-10TPR150G

Part No.

C-11US100WZ

C-11UsS125W2Z

C-11US150WZ

Part No.

C-12JP100WZ

C-12JP150WZ

100

125

150

{ememi}

100

125

150

125

150

%,

100

150

Wheel
Material

PP
PU
TPR
PP

PU
TPR

PP

PU
TPR

Wheel
Material

PP
PU
TPR
PP

FU
TPR

PP

PU
TPR

pulling

()

143

1715

194

pulling

{meme}

147

207

g @

(Kg)
50 280
50 380
50 420

t g

50 290

50 420

COMpOEES0Nn

[mm)

121

145.5

168

COMPIESHOn

)

107

167

{mem)

143

165

180

143

165

180

(Kag)

300

350

400

iKg)

300

400

o —
Y
-::r@nI
(mm)
114 X 100

114 X 100

114 X 100

—H
=) [=
EOH}H

immj
B4XT1

B4XT1

84X T

—H
(= a3
KON
[mmy)
114 X 100
114 X 100
114 X 100
e
(=Y f2]
0@QI
{mm)
114 X 100

114 X 100

114 X 100
——H
E=3 [=]
KON

114 X 100

114 X 100

A—H
|ﬁ =
ﬂ@ L] I

(mm)
84X T1

BaXT1

B4XT1

+—H

= @
oJi

{mem)
B4XTH

B4XT1

84X T1
+—H

£ =]

KON}
{men)

84XT1

84X T



REL L "

Kg/PC Kg/PC 2.800
PCICTN 3 PCI/CTN 1

50



